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O
Vg = IR andV, = jIX, Z=R+j X, (wL)
=1 (VL\_, .—1 (WL =1 (XL) — -1 (@L
O=tan (ﬁ)—tan (R) O=tan (R)—tan (R)

Phase difference
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- Example  Find the current flow

;

' 7Z=R+jX,

R=20 Q
1414 v () 1Z] = \/(20)% + (2 x 60 x (56 X 1073))2=29 Q2
@ 60 hZ ,3 [ =56 mH

-~ O=tan™1 (%L) =46.5°

~ i(t)=V2 = sin(2m X 60t — 46.5°)
—6.8851n(377t — 46.5°)



13-1 RC I—! EE:| §IE — 88 micrTsystems

R — jX¢
R—j 1
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Ve =IR and V, = —jIX Z=R-/X-1/wC)

f=tan™? (Z;Z)ﬂ:an_l (1/%6) O=tan™? (%) = tan™? (1/;)C)

Phase difference
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Ve(t)

- / i)

i
v () j— v / v,(t) VA1)

- 9|§_5|§EQ| XI_-lcl):IH:ILIx—! V = VR+VL+VC 7 =R +jXL_jXC
V=Vp TVt Vg o )
vtEgel Tzl ' =IR+/1X, - IX¢ =R _|_ij_jE

= I(R+ja)L—jﬁ)
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: - ForVv, >V,
J o
V_L“ B V = Vp+V, +V
Vi = IR+JIX, X,
> o
7 . 1
Ve § =I[R+](0)L—R)]
Z (Yo
_ . . - Forv, <V,
VR — IR, VL :]IXL, VC — _]IXC V = Vo4V, +7,

- IR+/IXL T/]XC

R .
Phase differencg =1 [R —J (ﬁ - “)L)]

7 (YImEn)

9=tan-1 (|V_L_V_C|):tan_1 (le—1/wC|)
Vr
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% R=170 Q2
3 X,=20 0
B S
- ‘g‘xl_'-prsﬂf-f-(f = j/ﬁ due to wL = ic) i
T w
_ Fotsty | For|=V/Z=10 A

V=IR=10x10=100 V
V,=IR=10x20=200 V/
V.=IR=10x20=200 V/

If X, =200 Q and X =20 Q2
Then V, =V, =10x200=2000 V/
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» O{E0|E A (admittance)
e V=IR, I=GV (G=1/R, ZAEHHXA) — ANNAN—— Z=R/Y =
. V=1Z, (Z=R+jX)

—_ 1 1 . = = 1
° = — = * Z— L Y: -
Y 7= X Adminttance — [) [J () \— Z=wL / —
_ 1. XR—]:X
R+]X R—j]X
R _]X _:—,L 1% — /
_ Z — /Y = jwC

~ R24X2  R24X2
=Gt JB
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6= t(ln_l (g) = tan—l (ﬂ)
IR

Phase difference
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. . Y=—4jwC
I = lR + lC R +](1)

=V/R+ jV/(Xc) of=o|EA

- V(%+ja)C)
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13-2 RC HA 3|2

—ram=1 (1= pan—1 (L€ V' =—+j
6=tan (_)—tan (1/R) 4 R+]wC

IR

Phase difference
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/ /}?(Z‘) . .
> /L(U /C(U
V(t)
% Cg) Ve Vzg Ve \
- 7| 25|z Zo| MR WA [= I+l +Ic I S
P= it i+ I
R T SLT C =V/R-jV/( X)) +V/(jX¢)
S[[SES

v -o0)
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j.
lz‘ a -
iR
> o)
i}
_ V _
IR =E’ L = (XL),IC —]V/(XC)
1
——wC
O=tan- 1(| _cl) | (wL_|)
IR R

Phase difference
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- For iy > ig

=V/R—V/(X,) + V/(jXc)

=V[%+j(w€—ﬁ)]
Y (0| E0[EL)
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- FOI’ IL - IC ( XL Xc) o E %Eélg

o-||:|:||E-|A Xl (Y=7/R)

P

e d 7 s

OX| =T _ 1
< |_—|—-|-'-|'—|—(f 211\/_ due to wl wC)

micrgsystems

< F 2] >
R=10 Q2
100 v 2) Veo VIS, — V¢ X =50
XC:5~Q
For|=V/Z

l.=V/R=1700/710=10 V
l,=V/R=100/5=20 V
I-=V/R=100/5=20 V

IfX, =70 and X-=7 Q
Then I,=1-=100/1=700 V/
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P-=I2R

Pade (xoh 1)

P=I12X

Oy = (UM gofEs )

Pr=12Z
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